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Note: Write Answers to the Questions on the objective answer shest provided. Four possible answers A, B, C and D fo each question are given. Which

answer you consider correct, fill the corresponding circle A, B, Cor
1.1

Sum of the deviations of the variable X from its mean is always:

D given in front of each question with Marker or Pen ink on the answer sheet provided.
-eEx YY) /4:,»,1‘}};&;!5‘;(,?6( 1.1

A One i (B) Zero 5 (€ TWO » ©) Three &
2. ;Cosec45’= -;— Cosec45%= 2
1 1
A — B V3 c V2 D ol
A) 5 (8) © D) 5
3. Through how many non collinear points can a circle pass? tet S 18 J" & 3
(A) 1 (B) 2 © D) 0
4. Acircle has only one: st ShiS el 4
A Secant Zuw (B) Centre ', (€ Chord 3
5. The length of a chord and the radial segment of a.circle arg.s... . i
congruent, the central angle made by the chord will be: <, . Wl tesn gl 5
* 45° ® 60% 90°
6. Angle inscribed in a semi circle is: ‘s gslisr? e Foid B
: L4
® 3 OF z
7. The number of methods t s @B ST LIS S S Gan T
(A) 4 D) 1
8. Roots of the equation 47!_:_‘ :u:/ujué4x2 —~B8x+2=0 =t 8
inary & ﬁ° {8) Irrational (3t 2 ) Equal 1.
ol e roots 2B #i2 Fﬂ;;ué:pxz +gx+r=0 &’JVB‘K)“ 9
i ¥
—q -2q
C == D —
© > © -
- 1
7yt o« A0
(© y? =x* W) y? =kx®
e LAY YR 22 N
vt %2
() = ©) e
12, Afraction in which the degree of the numerator is less than < e .
the degree of the denominator is called: <0 afeshSepsibsess A2
(A) A proper fraction - - (B)  Animproper fraction /i &
(C) Anequation =i+ (D) Inequality =i~
13, IfA < B,then A — Bisequalfo: ietnd, A—BisA<BS 13
(A) AUB (B A \¥) B (D) ¢
14.  If number of elementin setAis 3 and in setBis 2, then 3 n 5 %
number of binary relations in A X B is: ig-Ust ISl LA X B Ina B S LAl Si 14
A 2° ® 2° ©) 2 (D) 22
15.  The spread of observations in a data set is called: :;_ru{,u_n; b’@uut,mf A5
(A Quartile #$4Az (B) Range = (€) Dispersion /51 (D) Average b-sf
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vi.
vii.

viii.

.Find the nature of the roots of the ~ 324 Tx—13=0

equation

Evaluate: w4 w7

Without solving, find the sum and ' ok

‘equation: -

Convert into proper fractions

SECTION
Write short answers of any six parts from the following: (2x6=12)

Define quadratic equation:’
Solve: | x4+ 2x-2=0

Write in standard form: x+7NEx-3)==-7

product of the roots of the pxi—qx+r=0

Define proportion:
fR & T?-and R = 8when T =3,find R when T = 6:
Find a third proportion to 6, 12:

Write short answers of any six parts ffom
What are partial fractions?

If: A = {21 3: 5r7}

B={35,8}

Then find

Find a and b, if: (@a-4b-2)=(2,1)
Define geometric mean:
Find mode: 4,4,5,5,6,6,6,7,7.5,7.5,8,8,8,6,5, 6.5,7

Find arithmetic mean of the data: 45 60. 74« 58 65. 63. 49

Write short answers of any six parts from the following:

A

l

Define radian measure of an angle.

o,
Convert —g into degree.

:ér)ﬂ’(i)'l

T =3.2R = 8.4R o T2/l
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vi.
vii.

viii.

Note:

5.(a)
i (b)
6.(a)

(b)

f 7.(a)
(b)

3.(a)

(b)

Find I, when 8 = 60° 30', r = 15mm

Verify that:

" Define obtuse angle:

Define tangent to a circle.
Define segment of a circle.

Define regular polygon.

The Iength of each side of a regular octagon is 3cm.

Measure its perimeter.

‘  SECTION-I

Attempt any three questions in all while Q.No
9 is compulsory '

Solve the equation by completing square.

Prove that: 3

x}-y
a c_e
lfzi-;(a, b, ¢, d, e, f, #0)

then show that;

0= 60°30, 7 = 15mm £ 2pl

cos28

— + sinf= cosec 8
sinf

o é-:r.':"

AP

Zafluwlen

_é.gf&/’u;ﬁ
2w P St ZOE,
LI bk P LS Fd

Q/ ‘Ef u‘:u/ [i1y.4

A'UB"
, 14500, 14800

k _:—rt[/:ﬂeiLBJ;IAu;r;J

LU Geiigy
L F1 e

S bl

|AB| = 5cm |BC| = 3¢

¥

- 2
¥ cosd 2 cosec6

BC «AB L L 1S Lt YABCAL
UnEP P b0 i § T

Prove that two chords of a circle which are Pl dodibloc S paimd o i S =b
equidistant from the centre, arev congruent. N Bl J‘u»
OR &7 s
Prove" that any two angles in the same segment By ”g,, s S 2o S
of a circle are equal.
) 18-10-A
4
3
\L

sos

Vi
Vi

viii

(a).5
(b)
{a).6

(b)
(a).7
(b}
{a).8

(b)
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1.1

10.

1.

12

13.

14.

15.

The different number of ways to describe a set are:

{A) 1 (8) 2
Theset {x/x € W Ax < 101} is:
(A} Infinite set ex 55 (B)  Subseterd

A data in the form of frequency distribution is called:

(A)  Grouped data J#$s./  (B) Histogram 3¢

Mean of a variable with similar observations say constant k is:

w Negative & (B) Kitself ko#zti
20° =

(A) 360’

Radius of a circle are:

)

A 4 cm long chord subtends a central &
radial segment of this circle is C

If «, B are the
the roots of 2cc

o

The discriminant of ax? + bx + ¢ = 0 is:
(. b? — 4ac " (B) -b% + 4ac

In argtio a:b ais called:
(/ Relation 7 (B)"

The fourth proportional Wof x: y :: v: w is:

Antecedent /.

Xy
®) = ®) xyv
A function of form f(x) = %%’g with D(x) =+ 0, where

N(x)and D(x)are polynomials in x is called:

(A)  An identity £ (b')(nequation bl

#CBAYZ K lgL iy p2d 162 bzl e d

LA GBS 3o e L EDLC BA

Note: Write Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, C and D to each question are given. Which
answer you consider correct, fill the correspunding circle A, B, C or D given in front of each question with Marker or Pen ink on the answer sheet provided.

e AFSURS LS S S er
(D) 4
e bW {x/x EWAX < 101} or

tﬁ{ Finite set w.-t5

g s

(C) Null set &xdts

(©) d datdaps. /7

52

(€ Positive =
=200

3600’

il gL

(v

b TRy 7N

ter )5 (‘B{
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Centre /

(©) 3 (D) 4
34".?}1,:3’)/}‘; o Hrnid

c e D =

© = (D) 3

:wi/f&:»{»éxz ~ 15x + 56 =il

o

(x~7)(x—8) O (x+7);(x+8)
292 fun ol S px? +qx+r = 0ehBufi
e s K2
© = o =
e bl 0p¥ax? + bx + ¢ = 0 ehl
(€ b? + 4ac (D) —b? - 4ac
:4_1.'11:'( aka:b =’
(C)  Consequenti.gs» (D)  Proportion ot

L Xy 2w

_(cﬁ/ Y (D) =

vy
N(x)ZD(x) #0 Lt ¥~ f(x) = % G
—‘.L’Ul_jJ,EfD(x)A’
(C)  Aninequation =6is 4 (D) A fraction

e b e LS 6o
(D)  Polygon gusyr 2~
s QPW‘:«UJ‘:?H{I(AJ’/?‘J(

Half of any chord &, 7 ff "
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SECTION-I S
2. Write short answers of any six parts from the following:  (2x6=12) Yl f bz Lomgedftdits 2
i.  Solve by factorization: x2—x-20=0 L feF s
' (Slzlav:rgsli :::r::lc;n Py usng the 5¢°+ 8x+1=0 ES e dE Iy hiGmmd el i
iii. ~Define quadratic equation. I Sy i

iv.  Find the discriminant of the given
quadratic equation:

v.  Evaluate: ) A-w-

vi.  Without solving, find the sum and
product of the roots of the
quadratic equation:

vii. - If3(4x — 5y) = 2x — 7y find the ratio &

2x2 4+ 3x — 1= :Ef:’,')h’u“/.b/aub‘&uu v

b WV
Lo ok AL S tinBin i
. i
—-5y) =2x~T7y/i Wi
vii. R« T? andR = 8whenT =3, find R w "‘ 2R =84R o T2/ .viii
iX. Find a third proportion to 6, 2, 12 Zpbg s X

Uiz !.,mgg,éf‘ﬁ‘bzw 3

3. Write short answers of an

i If: g 4
B X—ygekj

i Define aignal fraeg ) Eafl P i

fii.  Resol i’c.{iiu‘f/-ﬁb// i

iv. 'fy = {—2; 1:2}1 then -ufb,]:ﬂu(jg#,y Xyny = {"‘2, 1,2}/7 W
relations for y X y.
v.  Findthesets x and yif = {(a,a), (b,a), (c,a), (d, a)} Dy letrymx Y
vii KA=NandB =W, th 1e value of B — A. -u’/,‘;’“’c‘EJB ~AIB=WusA=NSi i
vii.  Define geometric mean. ZEy S iE il
viii.  Find arithmetic mean by direct 200- 225. 350« 375. 270. 320. 290 (Folloa 3 biim, il
method: ' -
iX.  On5term testsin mathematics, a student has iAs {,agu, LS Lur o LF ix
* made marks 82, 93, 86, 92, 79. Find the median I o

AP A et end Lyt 2 82,93, 86,92, 79

4. Write short answers of any six parts from the following: (2x6=12) Yl fz Limgeditdin, 4

i What is sexagesimal system of measurement of S VB L A L Pedums i

angles? /2




vi.
vii.

viii.

Note:

5.(a)

(b)

6.(a)

(b)

7.(a)

(b)
8.(a)
(b)

Convert -lf-;—t into degree. JZ \JP ~2—23 _z'{d,;‘;d)’;/%’f
Find [, when 8 = 180%, r = 49cm g =180°r = 4.9cm.éz-fr}”l
Verify that: sinB+cosd _ 4 | tan 8 (e
cosf G
Define right angle- Ay AP
Define scant of a circle. Lo
Define chord of a circle. _g.’_,;_;/?k{;,gg_;i,
Draw a circle of radius 5cm passing through 2SI, < Bl AbG s Lidp s &6
points A and B, 6cm apart. 55 o
Define circumscribed circle. 3 PG
 SECTION-I ’ (no

Attempt any three questions in all while Q.No (8x3=2 : s. T
9 is compulsory -y fu“flj uyﬂ:um”‘;‘y
Solve the equation by completing squar 34x+3=0 A /Jf" sl e
Find the value of K, if the roots : X =0 Y b uaSnlent
of the equation are equal: _ : ' : : éf o3 6K

ifa:b =c:d,(a,bc,d ;  (a,b,c,d #0),a:b=c:d/

Resolve into partialfr ion: : TR . » :g_/‘_):".u:,/g,z

S
U={1,2,3,4,5,6,7,8,9, 10},
A={1,3,5,7,9}»B={2,3,5,7}
(AUB) = A NB SZEat)

Find standard deviation 'S, 9,3,828,598,918 L 'S i S
Verify the identity: tan@ + cotf = secl cosect Sl
Circumscribe a circle about an equivalent triangle ST L1 £ e bunits LEEABCELEL SIS
ABC with each side of length 4 cm. _ﬁr—46¢_,1
Prove that if two chords of a circle are congruent St S puiund EimEe i St
then they will be equidistant from the centers. L
OR L
Prove that the measure of a central angle of a N ST S n U o s Sk

minor arc of a circle is double that of the angle
subtended by the corresponding major arc.
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(b)

(a).7

(b)
{a).8
(b)




